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A WA & |

Seema, a new mother, is concerned about her newborn’s feeding. The baby is crying often and
seems fussy after nursing. What might be the issue ?

Incorrect breastfeeding latch.

HTq e T I AT & 2
ST 1,00,000 Sffer =t T HIG g <6l w&T
What does maternal mortality rate measure ?
The number of maternal deaths per 1,00,000 live births.

4 THTE 1 ST g F o F1¢ TR 3c1e! L & @, 3T 3! gl Tdlid 2rdt 8| o= &l a9
It o HaTfareh Te1 5 T 7| foran o &1 Tkt B 2
TisNahTe foeted (SS3TR)

A 4-week-old baby is consistently-vomiting after feedings, and the vomit seems to be
projectile. The baby is not gaining weight as expected. What might be the concern ?

Gastroesophageal Reflux (GER)

8 TEIN % Ueh 5= 1 oS, STehIT % (T ThT ohl WiE) 81 718 B 3N &= hl Wige Td 1 §ig o
T ShiSATS B I R | Gwrferd U1 e o 81 gehan @ 2
ELERISIFTS)

An 8-month-old baby has developed a harsh, barking cough, and baby is having difficulty in
breathing, especially at night. What could be the likely diagnosis ?

Bronchiolitis

Teh <l Uk oY ¥ 311k G © MHURor shl RISt o @1 i Gherdl Tl el | wiger
wrfereh el =ik forafid 8, 31t Seeht SHemm ety o SR srgeera g e ® § | Feferiea o
T G FHE T 8l Hehell & 2

U YR HET
A couple has been trying to conceive for over a year without success. The woman’s menstrual
cycle is regular, and they have been having unprotected intercourse during her fertile window.

What could be the possible issue from the following ?
Low sperm count
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6. T Mt Afgelt Sl =R OF U g6, T T 3TN A T THETE HT AT BT 2 | 7
TTEET o TS THIE H ¢ | SHHI &1 &l 11 8RTI 2

JreeqTfaeh TtaERT

A pregnant woman experiences sudden sharp abdominal pain, dizziness, and vaginal bleeding.

She is in her 6™ week of pregnancy. What might be happening to her ?

Ectopic pregnancy

7. T mofedt Aigen & =e, gl 3N W § e gu o Sidl § | 98 eman Rwed 3w gl |
Searra <l off fereprard et B | wufera faian o &t wehet 2 2

i

A pregnant woman notices sudden swelling in her face, hands and feet. She also complains of
persistent headaches and vision changes. What could be the potential concern ?

Pre-eclampsia

8. U miadl ufgen wi fwd fard % g At T < e wHETE w1 NS BT R | T
THTFIA SHTOT AT 2l Hehal & 2

e sfifer (3 wE)

A pregnant woman experiences painless vaginal bleeding during her third trimester. What
could be the potential cause of the bleeding ?
Placenta previa

9.  ue Ml Tfgett 394 329 wHTE # 3 ffia, g depe o wng-ay fis & et e
2& 3TN Afcaes guTe 1 WA T 2| ST A1 B TEN 2

O W Ug JEd

A pregnant woman in her 32" week suddenly experiences regular, painful contractions, along
with lower back pain and pelvic pressure. What might be happening to her ?

Pre-term labour

10. W Madt afger, 3o veel fuTel °, sree e § Ued 3R A | IR TheTd 9egd Ll § |
HfgeT sl A B Feres A8 qeref o1 ETe B W1 R | SEh! F A1 &l & ENT 2
T

A pregnant woman, in her first trimester, notices sudden abdominal cramps and heavy vaginal
bleeding. She passes tissue-like material from her vagina. What might be happening to her ?

Miscarriage

11.  ush miadt aigen i 7, TR qaef 3T I 1 3qvE g &, fomd fetefieor 3t a9+ #49
B ORI 2 | 98 fore TR o1 g swe & Bt 2

TR A

A pregnant woman experiences severe, persistent nausea and vomiting, leading to dehydration
and weight loss. What could be the condition she’s facing ?

Hyperemesis gravidarum
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12. s miadt ufgen fafia dgemt s A9a & 2 | Tae 3R §1d TR 8 | T8 1T 3
G foerifd 2 | 98 39 90 Y6 o fha =6 2 2
TR =T : IR
A pregnant woman is experiencing regular contractions that are becoming stronger and more
frequent. She's dilated to about 3 centimetres. During which stage of labour is she currently in
9
First stage : Latent phase
13. T Tt afgen guia: faesifia 2, ot soeh s o1 i mfelt # 3ot e @ | w3 A a8
Tl 9 8 SR T @1 8 | 98 T8 o [ohd ST H & 2
TER =
A pregnant woman is fully dilated, and her baby’s head has descended into the birth canal.
She’s actively pushing during contractions. In which stage of labour is she ?
Second stage
14. 9UHY 93 o SR, WHsierdn bR ferman 2, 3@l @ gues 9911 W@dn 2, 3R el gae fewm &
ToTe TTEeh o AT ol HidTH €9 H FATH 8 | TIERIGTT fhe H=R hiviel i TG & 3 ?
Terreff graor
During a counselling session, the counsellor nods, maintains eye contact, and occasionally
paraphrases the client’s statements to show understanding. Which communication skill is the
counsellor demonstrating ?
Reflective listening
15. U TS 379 ST STIHE o o H ST s | fererenar & | Trwsierar weh gfead i f-frofareres
AT ST I8 I WIS hl ek i oh [T STeaTfed hidl & | THSTerdn fohd qep-iieh 1
I @2 2
wEF
A patient is hesitant to talk about their traumatic experience. The counsellor encourages them
to express their feelings by creating a safe and non-judgmental environment. What technique is
the counsellor using ?
Empathy
16. U faarfed IS I 99X G9EI3T 31K S-SR IATS! I AT T IS @ &l F 304 fwd &

iR Sl JgR T ST AT TS B g H b T AN AM_d &1 3 W H
TATHe SATeREHAl 1 ?

TR H G ST AR A D! §A BT
A married couple is facing communication issues and frequent conflicts. They seek counselling

to improve their relationship dynamics and resolve their problems. What is the primary need
for this counselling ?
To improve communication and resolve conflicts.
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17.

IR (A) : T A1G TS Ty waTeey (THET) e i U S SR |
HRT (R) : TS AR 3T IRERT i TR, T8 3R IR S=9 o SR 3h Tareed 31
oo < IR A gl i o o fote Sresr, Tgmerar 3T umiee Yo T ® |

(A) 3 (R) G T § 3 (R), (A) T T TERR |
Assertion (A) : Counselling is an integral component of Maternal and Child Health (MCH)
services.
Reason (R) : Counselling provides individuals and families with information, support, and
guidance to make informed decisions about their health and well-being during pregnancy,
childbirth and early childhood.

Both (A) and (R) are correct and (R) is the correct explanation of (A).

18.

T e AfEe Sl YUT < forepra o TETedT o foTu 319 STER H wifcte Tfe & Y @ qerelf
e T hl Garg & St @ | FaferlRaa 3 @ = 91 @ yerd wifdss e o =1 Eid 8 2
TR AT (S8 UTeteh, HTet)

A pregnant woman is advised to include foods high in folic acid in her diet to support fetal
development. Which of the following foods is a good source of folic acid ?

Leafy greens (e.g. spinach, kale)

19.

T T il IMRTERT & SR ATH WiEA U i ol fafod ot 2 | frfofea 8 @ wF
I foTT S 1 11 H1d &1 Tehell 2 2

Tl (SEE < ferg e, &m)
A pregnant woman is vegetarian and concerned about getting enough protein. Which of the

following can be a good source of protein for her ?
Legumes (e.g. lentils, beans)

20.

T | g Th TG HigeT S a9 S BiaT & | T THTEE 3 GRIF fehden aeie seH
36k FoTT T HHT ST 3 2

20-25 T<S
A pregnant woman is of average weight before pregnancy. How much weight gain is

considered healthy for her during the entire pregnancy ?
20-25 pounds

21.

Frafafaa o @ = 91 e 3ta@re o fog Sifem wres T8 & 2
I Refiren Sufers

Which of the following is NOT a risk factor for adolescent depression ?
High academic achievement

22.

TR (A) : TWETE (MCH) § WY I &9 § AR ey defl fHarsti s g & ®
Hfgd w1 R |
SR (R) : WEHTI (MCH) H Wwst § Teh THY g¥ehivr it 2 S 7 shadt IR @ afesh
HIq T& RIS et o WTaHTeHe, TR TR FHTa-eh Taati W o foem wa g |

(A) T & 3T (R) Tl R |
Assertion (A) : Counselling in MCH primarily focuses on addressing physical health concerns.
Reason (R) : Counselling in MCH encompasses a holistic approach that considers not only
physical health but also emotional, social, and psychological aspects of maternal and child
well-being.

(A) is false and (R) is true.
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23. 1t fafercn STt § W T AT Th T8 4 T 6 T B T9H IR 3918 ol & 3R 37 o foTg
HaT3-2SD | H UTA B | SHHT I RO 2 :
gy g
A nurse working in a paediatric OPD takes weight and height of 4 years old child and finds the
height for age less than-2SD. The likely cause is :
Acute malnutrition
24. =T T o Tope =0 3 dsfl § A forehre g1 2, Tew I 37 <o 98 Aiet. (SReh) SR
1 forshra oft smfret & 2
eh
Which stage of child development is characterized by rapid physical growth, including the
development of motor skills such as crawling and walking ?
Infancy
25. 91 foerE o fopd R0 % CUF S STHAR W vegae faear 3R are fmfor |fegd st v
Sv1ch] o) Feebfiged 1 oge et 3 0
FAENIES]
During which stage of child development do children typically begin to develop their language
skills, including vocabulary expansion and sentence formation ?
Toddlerhood
26. IF T R T oh T (ST ! Ted 3Tfersh TG HLdT & 2
o
Which factor is most likely to affect a child's cognitive development ?
Nutrition
27. feReTNIEERN % G WTSHTH forehre T fohg ek <l TTHT=T YTE TSl & 2
ariaien fred
During adolescence, which factor is a common influence on emotional development ?
Family relationships
28. T forepm® o ford =01 § vgam bl @i Bt 8, o sArcr-ugae 3T ga 4 ford & s
IR H 7 et B & 2
LSISED
Which stage of child development is characterized by the exploration of identity, including
questions about self-identity and one’s place in society ?
Adolescence
29. YR SEYT % ST & UM, Tsh = <hl 37U WAt sl fFaifa s 3T anfern & 91 «1a-
< o i e fferfaa § 3 fored sga wwfea 2idt 2 2
KICCINE e
During the early childhood stage, a child’s ability to regulate their emotions and interact with
peers is greatly influenced by which of the following ?
Genetic factors
30. fr=foifaa & @ i o1 ek st fershra T qaieRofe e 1 3gTetv B 2

rar-Toar <Y e <1 '

Which of the following factors is an example of environmental influence on child development
?

Parental education level
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31.

forT hReh AT S= o ETHTINTh forehrd T el 31fes TenTticdeh TMTe Te- <hl GHTET 2 2
AR 3 TEH S@HThd

Which factor is most likely to have a positive impact on a child’s social development ?
Consistent and supportive caregivers

32.

o1 foepre o fopd =07 < SR o= STTHAR W 918 fisar s o7 STl o |1 aganmars
T § HoTd BT & hLd 8 2

il Ar5eege
During which stage of child development do children typically begin to form close friendships
and engage in co-operative play with peers ?

Early childhood

33.

I T IHY GIEhIv A -3 & ST (I THenati i ug= ohid 3T 3 HUTE JTH Hid
T higd & 2

e gAifed Sigferr Rt (REBT)
Which counselling approach is goal-oriented and focuses on identifying and achieving

solutions to specific problems ?
Rational Emotive Behaviour Therapy (REBT)

34.

Hehe YS! T TTATEeh oTe o1 3 ?
Hhe & QA doohlel TEIdaT 3R fRITET T T |

What is the primary goal of crisis counselling ?
Offering immediate support and stabilization during a crisis.

35s.

TRI H fohe Afcreh FagTa 5 UTeeh hl IR ol qal Teh 1T TEHT IS 2 ST a9 1 gall
THUT | TS S AT kT T hi T et A &l 2
T

Which ethical principle in counselling involves keeping client’s information confidential
unless there is a duty to warn or protect others from harm ?
Confidentiality

36.

3 Taferceta g iR e Sar 2 S fafim ot fagrat 3t ae-iiehl & awal ol g & 2
ERNER]

What is the term for a therapeutic approach that combines elements from different counselling
theories and techniques ?
Eclectic-counselling

37.

I AT TS GIEhIUT UTEeh] ol S THT H 3k foram, WaA1sti 37 e & s # 3
STTEeh S T Tee i T higd B ?
TeTee Rt

Which counselling approach is focused on helping clients become more aware of their
thoughts, feelings and behaviours in the present moment ?
Gestalt therapy

38.

39 AT <l T gl ST 2 Foreeh g1 s wreqi < 312f 3TN aEg 3Tl AT STFYTONST % €1 b
Teyl I HiEd B 2
Haftem

What is the term for the process by which children learn the meaning of words and their
relationships to objects and concepts ?
Semantics
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39.

a1t T, e 3T 9w 38 &9 T S higd Hd g GHETR H Sl o wreed
3TN HeToT H GUR o fore i 2 |
is dedicated to improving the health and well-being of children worldwide,
focusing on areas such as child protection, education and nutrition.
UNICEF

40.

AT Hehel, TTehfeh SIS 3R ToSl o QA STITAhIe Tad, Taeed JaTd 3R T8
TE U dTel TS gl
The organization that provides emergency relief, health services and support during

humanitarian crises, natural disasters and conflicts is
WHO

41.

Al H ferehate ST UgelT Sequl 91 8 ST @R o |1 Jehe BT & 2
DER L

What is the first sign of chickenpox in children that appears with the fever ?
Rashes on the trunk

42.

i fewfiten & fau swmem sefr wr g 2
2-6 T

What is the incubation period for the Corynebacterium diphtheriae ?
2-6 days

43.

fe T RIAITER o of W1 7, T 3119 U i & Gl i 2
ESCRRICIKISEUS L

If patient is taking the drug Rifampicin, what will you inform the patient ?
It will turn the urine red.

44.

AT AT <l STl STATIRAT bl el TRATT BT 2
IS & Sl Y <1 TR ISl T ! Hfeld HLT & |

How will you define the energy requirement of an individual ?
Level of energy intake from food that balances energy expenditure.

45.

GifTAHTSATSeE % Hshyul 1 WEN hid & ?
IEC]

Who is the reservoir of infection of poliomyelitis ?
Human

46.

319 TR H Tk Afgetl i 12 6 qh U™ 3T JRW Hd 5 oW 8, dl 39 T Tohd & 1%
Hgett o I H 4 1 YT I &l & 2

SILRUERIEER)
You see a female fasting and resting for 12 hours in a house, so which metabolism you can

assume the female is having in her body ?
Basal metabolism

47.

ST AT §, il ol ITANT fordt 3299 o foru fepan S 2 2
<hael WECAYU! S oh! ST SEXAl ! ST TEH o foTT |

In basal metabolism, for which purpose the energy is used ?
Only to maintain essential needs of vital organs.
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48.

Teh I9&h § 3R] <EAT9=" o T7Q fehet it shl SATageha gid1 & 2
TR oo 1 1 et et /e /fepam

How much energy is required for the basal metabolism in an adult ?
1kcal/hour/kg of body weight

49.

S Sl T fcRIereh &T9dT SIgT o foTT 3119 SATER T i T GLaATcHeh IS MTiet hifl 2
B

Which protective food will you include in the diet for improving the immunity of the child ?
Fruits

50.

ITSRTEIY WIS <hl 93 T ToTer H GER o folt i & IUeh SAIeHI hl Tettg &t ST aehet 8 2
I gt T (Rawreh)

Which suitable combinations can be advised to improve the overall protein quality of
vegetarian diet ?
Cereal pulse combination (khichdi)

S1.

frfafea @ v faferi o foe &t e ward -
A B
(i) EesgHT (a) 100°C W 9T+ § @1 96 |
(i) 3Tl (b) <TTHIT 85°C G @M Ush[HT |
(iii) R HE (Ragmn)  (c) @ uert ot %9 el & fore mf seerd o §
SEA AR |
(iv) sAfem (d) TS AT H T 1 ST Heh 85°C-90°C W
o FHI T THMA] ]
Give the correct option for following cooking methods :
A B
(1) Simmering (a) Cooking inh water at 100°C.
(i1) Boiling (b) Cooking at about 85°C.
(iii) Stewing (c) Foods are immersed in hot boiling water for
few minutes.
(iv) Blanching (d) Prolonged cooking at 85°C-90°C using small
quantity of liquid.
(D)-(b), (ii)-(a), (iii)-(d), (iv)-(c)

s52.

Th GG o HATER § HIATETSSE hi =IHad HTAT feha-1 BT T(aT ?
100-130 T /fe

What should be the minimum amount of carbohydrate included in the diet of an adult ?
100-130 gm /day

53.

HIEIEIESE o1 T8 T &Y 1 & T9EehT 7T U190 H HEed & ?
TR

What is the simplest form of carbohydrates that have importance in human nutrition ?
Glucose

54.

JTTER H U= HIaTaT3ee 1 SN TR IR h1 gig 3R Fmior % fore S =1 3uam i o foe
Folt Eid o &9 H 39T fopan S 8, T A 30 ran sl R har a8 7

BICIERSDITUBEIC]
The optimal level of digestible carbohydrate in the diet serves to be used as an energy source to

make use of protein for growth and building of body, what is this action of body called ?
Protein sparing effect
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5S.

ToH WIS H 1S SATET BTSSR Fel €1 & 7
HEH
Which food does not contain any dietary fibre ?

Meat

56.

T i ST 3ATd | Tepva & H1Y i © HIETaEge T BI AT H U= o o Yfquiei 2d & ?
Which carbohydrates are resistant to digest in human small intestine with fermentation in the
human large intestine ?

Cellulose

57.

T | Ereifed & fmfor < fere i o1 @i e stevess 27
g acd

Which mineral is necessary for formation of haemoglobin in the blood ?
Iron

S8.

ATTEE ETHT o TYCYYT oh oTT hi- T F&T UIveh ded LIS & 2
IREH

Which micronutrient is required for the synthesis of the thyroid hormone ?
Todine

59.

WHO ORS 1 U Uehe fehe It | it =mfgu 2
1000 fir=f.

In how much water, one sachet of WHO ORS should be dissolved ?
1000 ml

60.

fafssra Srenrertur o foru formferfiga § @ fopa wvarent <1 Soam fepar sTan @ 2
AHE SRS e

Which of the following preparations is used for the passive immunization ?
Human immunoglobulin

61.

Topeht frifoara wma o foreft forfire & o TR <h1 @ o 3T Jfg i 91 el I 2 7
SEE faesie

A sudden increase in number of individuals in a specific area at a given time is called as
Population explosion.

62.

- s e —— ——
What does the population statistics include of demographic indicators ?
Sex-ratio

63.

SEEAT hl TS G 1 ST Fehaehi <h b8l 3ATehg H WA feha ST 8 ?
HEeaqU! Al

The fertility rates of population are included in which statistics of demographic indicators ?
Vital statistics

64.

T g W h TRE RN TAR 7
gfg S ToR THE H WA I A s R |

What is true about exponential type of growth rate ?
Growth that increases rapidly with passing time.

65.

IR SO H e Bcd i hd TReTiyd foha Srar & 2
e ot fomft 7 g Aot st <6 Een

How is the population density defined in the Indian census ?
Number of persons living per square km
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66.

yfe =afeh ferat Shalll o 7T marvaes =4 o1 Tl T@ o w9 A gfenfya feran men g 7
Teior 6 foTT 2400 3T 3l & 6 fotw 2100

For how much calories per person, the required expenditure is defined as poverty line ?
2400 for rural and 2100 for urban areas

67.

WA <l SaEn 8§ s 9fg F1 FRU R R ?
Tt sftem &

What is a cause of rapid growth of India’s population ?
Low standard of living

68.

g AT a1 3R 3Teh e T o S1= 81 aTel Herd i &1 gl 1 Fhell & 7
m?,ﬁ"'lﬁ qay (intergenerational conflict)

A conflict that happens between the aging parents and their adult children can be called as
Intergenerational conflict

69.

WM T & I 7 B T8 & 7
Ao H Uiveh dcd SQIaT 8 |

What is not the benefit of cooking the food ?
Increase the nutrients in the food.

70.

Tt ThTH o ST TITTHA st i BT 1 ekl oh TTT 31T ATATSTT BT Shi<l TT heH Y3 Tohd & 7
HTel ! STET TTS AT €16 1Y |

Which step you can advise to mothers to prevent loss of vitamin B during cooking of rice ?
Don’t rub and excessively wash the rice.

71.

Tl hTed G 1Y fohd Td s & @ ?
FRAATEA IR I A |

Which point will you keep in mind while cutting the fruits ?
Wash them before cutting.

72.

STl H i 8 T 9T SITd & S SRR H e diveh-dedl <hl ITctedal T fdhd THTd Sefd & ?
HT3eH

Which chemicals found in pulses that adversely affect the availability of some nutrients to the
body ?
Phytates

73.

219 TS Hid T9F I H Fersiiel foerfim it g1 @ a=m % fore 3 oo surmr s wshd g
T QT8 HISH ! Afd o= |

What measures you can take while deep frying, to avoid the loss of fat-soluble vitamins ?
Coat the food prior to frying.

74.

Ife meiad) Afge o e 3 aul & Wit A I FehT Tal R T & a1 39 9 aEiee 6l
fepat U (Siwt) < STt =fRT 2

How many doses of tetanus toxoid should be given to the pregnant woman if she is not
immunized with TT within the last 3 years ?

2

75.

S o1 et Afe S o g9 781 fean srar 2 @t fore 3w ek fen st g 2 2
1 a¥

The vaccine of BCG, if not given at birth, up to which age it can be given ?
1 year
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76. fererfim i vgeht @ues (i) foper 3 o <t = 7
9 TN
At which age the first dose of vitamin should be given ?
9 months
77. TSI 6 98 S S W 3R wrwries afferfa < i g9 1 auH wd R, HEerd 8
TR TR (social pathology)
The branch of sociology that describes the relation between the disease and the social
conditions is called as
Social pathology
78. fora we & ATTiSTeR USRI <l SR e 511 wehel & 7
T TaEo
By which means the social pathology can be uncovered ?
Social surveys
79. forma ftwrfya foran fop e tmfasm &1 & T 6t srEm=r 1 Tmarss feufat
AT BT S 7
Who defined that the task of social pathology is to study the abnormal or pathological
conditions of the society ?
Durkheim
80. foramr = srferfem & S7gEn ferai i aRwmr o 2 7
16 |1 § ¥ 30 1 TEHI I 18 A & HH I bl TEah!
According to the Juvenile Justice Act, what is the definition of juvenile ?
A boy under age of 16 years and a girl under age of 18 years
81. THIS ! AT TeHl o STeT o &9 H fopg aitwfiya feram 7
BehTga 3T
Who defined the society as the web of social relationships ?
Maclver and Page
82. frfeifaa o @ = & sifnfora wmmTfores aftardH o Ik ek 1 IS & 7
1 3 YH
Which of the followingis an example of causative factor of unplanned social change ?
Flood and earthquakes
83. 9 T YNad HrMfeteh Shiehi o HIUT BId &, ST ATHTISTeh Tiad o foTT Saier @ ?
TE AR 3R aregshe
Which changes occur due to geographical factors, which are responsible of social change ?
New townships and architecture
84. Tr=fefaa o @ fora amanfores aftad o for amfie srenl W o fean g
TR
Who among the following has emphasized on economical factors for the social change ?
Marx
85. TR =m0 T ST F R ?
HfFmTa g H FEa it fog

What is the aim of social control ?
To control individual behaviour
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86.

fraferfad o 9 o ICDS TSI 31 Teh TeEieh SIS & ?
eI T @

Which of the following is one of the administrative unit of ICDS project ?
Community development block

87.

Tt | gereier faerfi S g1 & = o foTT @1 sH1d |19 3179 SR 39T L Tehd & 7
& U B a1 I FHhT T ST R |

What measures you can take while cooking to avoid the loss of water-soluble vitamins ?
Use a pressure cooker when possible.

88.

T Tferent ! fohd TR % TEA 3T HAeAl I T HEAT BIAT & 7
Tehighd a1t forehr@ FerT

Under which programme, the ‘Mukhya sevika’ has to perform her duties ?
Integrated child development scheme

89.

setieh T I YIETSHT T W STSEISITE TR ISHT &1 999 I9H i 8 ?
o1 T aiEisHT HARER

Who is the overall incharge of the ICDS project at the project level at block level ?
Child Development Project Officer

90.

reftor 21 W&t & § Teh STTHETE! T1fUd i o foTu STEe i et s o o HHeE § 7
What are the norms for the population covering for setting-up the one anganwadi in rural or
urban area ?

400-800

91.

ICDS 3T o anreff s 8 2
6 9N T U Y & =, Miact 3N THUH HH o} wfgermd

Who are the beneficiaries of the ICDS scheme ?
Children under 6 years of age, pregnant and lactating women.

92.

W FhR g0 ICDS AT fopd ad feenfira hi 78 oft 2

In which year the ICDS scheme was evolved by Government of India ?
1975

93.

o} afaR e 3TTehR Y ST FRTer 6t TUHET S % fofu, foRe SSE €t st 3anT TR ST @

?
Hel SO €L

To count approximate magnitude of the completed family size, which fertility rate is used ?
Total fertility rate

94.

S gfg o e Ul Hesh F1 @ ¢
1 Y

What are important components of the population growth ?
Birth and death rate

95.

e afer d saet fudn, @rdr 31 39 5= 2, 38 1 HE A8 ?
Tehel TRER

A family consisting of father, mother and their children only is called as
Nuclear family

96.

Afq-Teit & deITeh % 3TfehR i fer THTRS SR gRT H=raT & 773 ?
Ty feramg arfafem, 1954

By which social law, was the right of husband and wife to divorce recognized ?
Special Marriage Act, 1954
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97. i T AT T TGk TTeed Ta13Ti 6l el SIS o &9 H H il & ?
RIECL

Which social institution serves as the basic unit of community health services ?
The family

98. S el AU Ed w7
Shfera S=at <t E&=1/1000 STHTING HET-a8 G
What is the correct statement for the birth rate ?
Number of live births /1000 estimated mid —year population

99, fég foare srfufem & srgar Ju foag i v yd 7R 7
I e =R A3 -8 T 8 =R |

According to Hindu Marriage Act, what is one of the conditions for valid marriage ?
The bride and grooms should not be sapindas.

100. Tr=feriiga # & =i |1 wEEhTerehton i el T2 2 ?
T T

From following which is not a way of acculturation ?
Social change
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